Questions from Homework
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Warm Up

Determine the 6 trigonometric ratios of an angle whose terminal arm
passes through the ordered pair (-5, -3).
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Review signs of the trig ratios in the 4 quadrants
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Cast Rule
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Special Angles

L. 30° and 60° MEMORIZE THESE DIAGRAMS!!!
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Special Angles
I 45° MEMORIZE THESE DIAGRAMS!!
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MEMORIZE THESE DIAGRAMS!!!
[1I. Quadrantal Angles (Multiples of 90°)

Unit Circle % smB: Y (5(93_;‘
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0’ 90" 180° 270° 360"
sin 0 1 0 -1 0
cos 1 0 -1 0 1
tan 0 undefmed 0 undefmed 0




Without a calculator determine the value of cos 240° V@‘? ©= 6O°

1. Start by sketching the angle
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